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https://www.100test.com/kao_ti2020/645/2021 2022 2010 E5 B9
B46 _E6 9C 84 645572.htm 1. The peotry of Ezra Pound is
sometimes difficult to understand because it contains so many
references. A. obscure (LJ O J 00 [J ) B. acute (cutel] [
[ O boney OO O bonyld O OO OO)C.notabledd OO 00O (
[J odourld [0) D. objectiveld U 0O O U 0 peotryld O 0O 00O O O
OOO0000 references 0 O U O 0O OO OO reference letter (
[ O O )=recommendation letter (L LI (O ) O absurdd 0O O O O
O{@@ooodoood)dobscured D O(LUOOOOOOO
O)Oambiguousd OO0 OO0 O0O0O0O0OO@MUOODOOOOO)
Instant dictionaryd OJ O O (O O O ) answerd A 2. The major was
asked to his speech in order to allow his audience to raise
questions. x A.constrain (U O O 0O OO O O O) x B. conduct[]
0@ O0O0000)0C.condensel] O O O (densityd ) O D.
convergel U0 OUOO0OUOO0OOOOOOOO (verged O
OO0000O)conDOOOOtogetherU OO OO OOOOOn
O 00O 0O answerd C O 3. The morning news says a school bus
with a train at the junction and a group of policemen were
sent there immediately. A. bumped [ bumped against/on] [ [0 [
00000 (bump car)d O B. collided O collide with(d [ 00 [ [J
Do00000000 Cecrashedd D OO0 OO0O0OOOONO
0 00O 0O O crumple collapse (L O ) D. struck strickd [

[ stikinglyld O O O O O boost you up a bundle of punditstd O [
[ fistD) O two-fisted sportsman] OO O [0 O O two-fistedJ [ [ [




[ bitel] TJ morphinel] I [0 hypnosisC] L1 bite the bulletst] [ [
O (@ 00000 ) answerl] B 4. Sometimes patients (LI O U 00 [
[1 00 ) suffering from severe pain can be helped by "drugs"” that arent
really drugs at all sugar pills that contain no active
chemical elements.(0J J ) O A. or rather B. rather than C. but rather
[ nol] but ratherd [0 OO OO O D. other than severeld [1 [ I relieve
[ O sugar pillstd O therapyld O remedy0 D OO OO O OO O
0000 comedyld OO OO 0O OOOO O orld raher = accurately
speaking (J UJ O I ) A rather than B [0 ALl U B if = provided
that (I O )allalone (U O)O0 OO OO allthe O OO OO O (O
DO000)0o0odododn e.g. Youwill be all the better for a
holiday. 1 OO O 0O O O OO O O for certain = certianly for all that[
[ O 0O O = despite thatld O OJ O in that = because let aloned [ [J
[ O O O = not to mention that but for = except for . withoutd [

[0 O O butthat =except thatld (I 00 O [0 but then = on the other
hand now thatJ O (O O O O ) answerd C 100Test 1 O 0O OO O [
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